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QUESTION 1

You are asked to design a deployment plan for a large number of QFX Series switches using ZTP. The ZTP deployment
plan must ensure all switches are configured with their designated configuration file. 

Which DHCP option and subscription combination would be used to accomplish this task? 

A. DHCP option 43 a suboption of 00. 

B. DHCP option 66 a suboption of 01. 

C. DHCP option 66 a suboption of 00. 

D. DHCP option 43 a suboption of 01. 

Correct Answer: D 

 

 

QUESTION 2

You host a multitenant data center that runs VMware. You must perform deep packet inspection on all inter-tenant traffic
that is flowing between the VMs within the same hypervisor. Your solution must provide the security services without
needing to leave the physical device. In this scenario, what should you do to solve this problem? 

A. Use separate vswitches to isolate each-tenant\\'s network and use and use a vSRX device to evaluate inter-tenant
traffic. 

B. Use VLANs to isolate each tenant\\'s networks and use an SRX Series device to evaluate inter-tenant traffic. 

C. Use a VLANs to isolate each tenant\\'s network and use IP tables to evaluates inter- tenant traffic. 

D. Use a vMX device to isolate each tenant\\'s network and use firewall filters to evaluate inter-tenant traffic. 

Correct Answer: A 

 

 

QUESTION 3

Which two statements are true about VRF routing instances? (Choose two.) 

A. VRF can be used in conjunction with Layer 3 logical interfaces. 

B. Each logical Layer 3 interface can belong to only one routing instance. 

C. Each logical Layer 3 interface can belong to multiple routing instances. 

D. VRF does not enable multitenancy. 

Correct Answer: AB 
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QUESTION 4

Which two statements are correct about VXLANs? (Choose two.) 

A. VXLANs have smaller broadcast domains than VLANs. 

B. VXLANs have a smaller logical network identifier than VLANs. 

C. VXLANs can have a theoretical maximum of 16 million unique networks. 

D. VXLANs are an overlay technology. 

Correct Answer: CD 

 

QUESTION 5

What is an advantage that EVPN has over VPLS when used for DCI? 

A. mass MAC withdrawal 

B. transparent BPDU transport 

C. active/standby multihoming 

D. reverse path forwarding 

Correct Answer: A 

JN0-682 VCE Dumps JN0-682 Study Guide JN0-682 Exam Questions

Powered by TCPDF (www.tcpdf.org)

JN0-682 VCE Dumps | JN0-682 Study Guide | JN0-682 Exam Questions                                3 / 3

https://www.geekcert.com/jn0-682.html
https://www.geekcert.com/jn0-682.html
https://www.geekcert.com/jn0-682.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-682.html
https://www.geekcert.com/jn0-682.html
https://www.geekcert.com/jn0-682.html

